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For a curtain, which a worm fell into it, etc.

OVERVIEW

X7°T "1 1127 explained that there was 21907 n"v ¥ in the 1oWn in a case where a
worm made a hole in a curtain, so it was necessary to rip the fabric around the hole
in order to sew it up properly.! Mmoo reconciles our X3 with a seemingly
contradictory X3,

mooin asks:
= 19999R 2NN YWIIAT PNNY 13939 NN

The %" is astonished, for the X723 states in the beginning of 3757 P79 -
= N5 N2V 23WN N HNIYM 2357 729N NV NANY N HY ¥

‘Where do we find a case of tearing in order to sew two stitches’? And the X3
answers, ‘that the garment was made like a pocket’.

nB0IN answers:
= NNDID YWY 191 XY D1 191 9012 DN 191 19WNIT PNYY 13529 99IN)

And the "9 answered that in the jown they were superior craftsman and they

were careful so that they would not make a pocket; the only concern was for a X117 -
= 9590 NYOYWT VPIT NIT N HAIY 9INRP XY ONNY

And there in 37 P79 the X3 did not say that X397 72 21, for the X
mentioned this which is more frequent —

mooin offers another explanation why the X723 there did not say X177 772 991
= N9 1) 79N SNV 99NY NI JY ¥NP MIUNY ¥ DNNT MY

And additionally the X3 there wanted to find a case of mwn% »"y ymp only

two M7%5n, but no more; this can be by Xno°3, that only two m7°on are required -
— Y999 NN N YW NIV I NNYNHN NYNPY P98 NIVT N HIIY NI

However by a X197 ;72 bp1w 7w>7, it needs to be torn from the beginning until
the end, so there are many stitches necessary to repair the garment —

!'See X117 17"7 "0
2x,ap.
3 See *"wn there 3 71"7 2,7p. There was a protrusion because it was not sewn properly, The question is; why did the
X3 here say that the case of M1n% n"v ¥Ip took place in the 1own where X117 72 993, when it could have said that
q19n% 1"y ¥y1p took place in the 10wn in a case where XND>23 X7°2Y as the X3 states later in A7 279, The question is
also in the reverse why did not the X113 there utilize the same case like here of X117 72 991
4 It is more frequent by ‘regular’ tailors that they make a Xno»3, more often than X117 72 951 which is unusual.
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mMooIN anticipates a difficulty:
= 5RD I 70N NV NONY NN HY 19WNI NNOYN NI RNWNT 2) DY 9N)

So even though that now we do not find in the Jow» a case of =wn» »"y yp
only two n7°2n and no more —

mooIn replies:
$2IVYN 937 %N MION NVWAT NN XI2D

It is logical, for two m=%2n is considered a meaningful amount, so it is self-
understood that M17"on 'a Mon% »"y yp is 27n.

SUMMARY

1902 "y ¥7P can be through a X177 (which is less °2w) or through a Xno*> (which
will not happen by 77°n> MamKR), MmN '2 NoN? 2"v ¥yP is only by a Xno°>, and "2
m°on is self-understood since it is a 21w 727.

THINKING IT OVER

Why is it that we derive from the jown, only the type of noX%» which is 770X on
naw, however we do not derive the amount of 72857 that needs to be done’ in order
to be 2»n?®

> We just concluded that in the 1own there was no Xno3, only X117 72 781, which requires more than two M1, so
how do know that even 10 »"y ¥ only n°on '3, is also 2n?
¢ See ‘Thinking it over’.
7 See footnote # 6.
8 See 1910 on.
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